TEA5767数字广播套件
TEA5767Digital broadcast Kit

[image: image1.jpg]


关于售后服务：                                                    
1.产品核对：开箱验货，确定无误再签收，如有问题请及时联系客服

2.售后时间：上午10点—12点，下午13点—18点（周一到周六）
[image: image2.jpg]


3.可通过手机扫码，查看图文说明书（带图片说明）
Ⅰ.元件分布图 Component distribution diagram

[image: image3.jpg]i HHH &





[image: image4.png]



Ⅱ.电路原理图 Schematic
[image: image5.png]~er —Tar—Cc2 -
i1

22P Yl zzp




[image: image6.png]



Ⅳ.焊接步骤及注意事项 Welding steps and precautions   

[image: image7.png]



焊接详细步骤请扫描二维码获取Please scan QR code for detailed welding steps.
↑本套件电路板有设置一处故障点，请扫描上方二维码查看具体详情。 


↑There is a fault point on the PCB of this kit. Please scan the QR code above for details.





Ⅲ.元件清单  BOM


序号�
名称�
Name�
标号/Label�
数量/Number�
�
1�
电路板�
PCB�
/�
1�
�
2�
262小天线�
Antenna-262�
X1�
1�
�
3�
4位数码管�
4-digit nixie tube�
/�
1�
�
4�
100UF 50V电解电容�
E-CAP    100UF 50V �
C3,C9,C11�
3�
�
5�
10UF 25V电解电容�
E-CAP    10UF 25V�
C7,C8�
1�
�
6�
22PF 瓷片电容 �
Ceramic-CAP   22PF�
C1,C2�
3�
�
7�
104独石电容�
MONO CAP  104�
C4,C5,C6�
4�
�
8�
自锁开关�
Self-locking switch�
S4�
1�
�
9�
自锁开关帽�
Switch cap�
/�
1�
�
10�
DC005电源座�
Power socket-DC005�
5V�
1�
�
11�
4.7欧电阻�
Resistor-4.7Ω�
4.7�
1�
�
12�
10K电阻�
Resistor-10K�
10K�
11�
�
13�
220K电阻�
Resistor-220K�
R3�
1�
�
14�
S9012三极管�
Triode-S9012�
Q1,Q2,Q3,Q4�
5�
�
15�
13.56M晶振�
Crystal-13.56M�
Y1�
1�
�
16�
TEA5767收音机模块�
FM-Tuner  TEA5767�
TEA5767�
1�
�
17�
按键�
Button�
/�
2�
�
18�
LED  白发兰发光二极管 �
LED-white to blue�
D13�
1�
�
19�
50K拨盘电位器�
Dial potentiometer-50K�
R6�
1�
�
20�
8P IC座�
IC socket-8P�
LM386�
1�
�
21�
40P IC座�
IC socket-40P�
U1�
1�
�
22�
LM386芯片�
Chip-LM386�
LM386�
1�
�
23�
STC89C52(烧写好程序)�
Chip-STC89C52�
U1�
1�
�
24�
5V2A电源适配器�
Power adapter-5V2A�
/�
1�
�
25�
喇叭�
Speaker�
/�
1�
�
26�
外壳包�
Shell pack�
/�
1�
�
27�
双通铜柱�
Double Copper Post�
/�
若干�
�
28�
M3*8mm螺丝�
M3*8MM screws�
/�
若干�
�
29�
M3*12mm 螺丝�
M3*12MM screws�
/�
若干�
�
30�
M3螺母�
M3 Nuts�
/�
若干�
�






1.焊接贴片收音模块时，先焊接一个引脚固定，确认模块放置准确后再焊接剩余引脚。


First weld one pin for fixation, and then weld the remaining pins after confirming that the module is placed accurately.


� �





2.根据丝印标识焊接4.7Ω、220K、10K电阻（11个）。（特别注意R3电阻为220K）


Weld 4.7 Ω, 220K and 10K(11) resistance according to the silk screen mark. (note that R3 resistance is 220K)


 �     �





3.根据丝印标识焊接晶振(Y1)、22P瓷片电容（C1/C2）、104独石电容（C4/C5/C6）。


Welding crystal oscillator (Y1), 22P ceramic chip CAP (C1/C2), 104 MONO CAP


(C4/C5/C6)shall be identified according to the silk screen.s


����





4.根据丝印标识焊接拨位电位器，如图示。





Weld the shift potentiometer according to the silk screen mark, as shown in the figure.








� �





5.焊接C7电解电容时，需放倒焊接。（短引脚为负极，对应丝印图案白色阴影）


When welding C7 electrolytic capacitor, it is necessary to place it upside down for welding. (short pin is negative, corresponding to white shadow of silk screen pattern)


 �  





6.根据丝印标识焊接4.7Ω、220K、10K电阻（11个）。（特别注意R3电阻为220K）


Weld 4.7 Ω, 220K and 10K(11) resistance according to the silk screen mark. (note that R3 resistance is 220K)





� �





7.根据丝印图形标识焊接S9012三极管、4位数码管。


Weld s9012 triode and 4-digit nixie tube according to the silk screen graphic identification.


�





8.根据丝印标识焊接LED（长引脚为正极，短引脚为负极）、DC005电源座。


Weld the LED,Power socket-DC005 according to the silk screen mark. (LED:long pin is positive, short pin is negative)





� �





9.根据丝印标识焊接100uF、10uF电解电容，如下图所示。


Weld 100uF and 10uF E-CAP according to the silk screen mark, as shown in the figure below.





�





10.根据丝印标识焊接自锁开关、按键、天线，如下图所示。


Weld the self-locking switch, button and antenna according to the silk screen mark, as shown in the figure below.





� � �





11.焊接喇叭接线，红+黑-，如下图所示。等组装好喇叭外壳后再将导线焊接至电路板对应的接口。


Welding horn wiring, red + Black -， as shown in the figure below. After assembling the horn shell, weld the wire to the corresponding interface of the PCB.


�  �





焊接完成示意图Welding completion diagram


�








[image: image8.png]


[image: image9.jpg]


[image: image10.jpg]


[image: image11.jpg]-
-




[image: image12.jpg]UZLER
U-shape cut




[image: image13.jpg]U-shape cut

"0\"4‘[ 0\'4\\9 08 A8 08 & ol o
i Al |

A L 35 [ Lo v v =

b :]EI:IJI, tf j!

- 0‘!5)‘1..‘

TEASZ67

B3 Dvcomo
- R 03

#: DPGOA252




[image: image14.jpg]


[image: image15.jpg]


[image: image16.jpg]m'sﬁm!; o -tu‘l. ..u[ «»41 »m' ‘u‘ i cw' ...\-.i o aal dal el o

“‘)




[image: image17.jpg]z 0 E
DPG04Z252 A
- awan o»;r: A=t » » -




[image: image18.jpg](=N wlu il
1. 3. . I,

. ‘\.ll \f{ \,‘ M




[image: image19.jpg]


[image: image20.jpg]


[image: image21.jpg]


[image: image22.jpg]


[image: image23.jpg]VA LYB9C55RE e ai
401-PDIP40 = | )
U ioosronnzaxanc > .




[image: image24.png]TEAS7678F 1EEM
FRIIRBUERLBHIE



[image: image25.png]000000

o @dioo
O 1oK]O 02|10KO O[1oK]O jcs LM386

use 220K resistor

1 R13 R1
] 00000000000000000000 lgooo
g C % 12M C2 RlllOKO
° c7 Qo Q
3 o Zskgommao g (ollio) 3 m
ot | stcescs2 22p v1 - 22p Re
00000000000000000000
00 =
X
&O 104 —TeAB7e7 o R3 O/
{EF5220K EBpE



[image: image26.jpg]p=3 e

T Lo
~| s [ 1 1007 ¥
o o e £ e
o = | i
N e A |- x
o £
Bt g ST
=
B ©
2 . S
: = =
: = N =
H T« o P
: : o Lo orr
Feereress =
= o
B
-
H—
- =
3 o =
2 =
El 3 cu ||
= =
23 1 8 o— "
B —d: = i
= ER -
= s .
1 B
e s o
Y1 i 104 =
= x
i H
= -
2, £
Sl
Tz, o




